


) Choose a word to complete

the sentences.

(quar‘fer‘) ( half )

The owl has turned a Turn.

The owl has turned a Turn.
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&) Complete the sentences.
Use the word bank to help you.

( pear ) ( apple ) (banana)
( left ) ( right )

o =

The apple is to the right of
The

The apple is fo the of

The banana.
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&) Choose a word fo complete the sentences.

(above) (below )

w
o I

The sheep is the cat.

(2)2)

N

The frog is the dog
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Draw a flower below the bee.

Draw a sun to the lefT of The bee.
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6 Here is an arrow at The starT and

end of a Turn.

(sfarf )

("end )#

What turn could the arrow have made?
Tick your answer

quarter Turn

half Turn

three-quarter turn
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Answers

0 The owl has turned a half furn.
The owl has turned a quarter turn.

The opple is fo the right of the pear.
The apple is to the left of the banana.

The sheep is below the cat.
The frog is above the dog
\')
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